Tabulation of Bids Page 1 of 3

Contract ID: 026630.03 Counties: WASHINGTON Maine Department of Transportation

Letting Date: August 20, 2025 District(s): EASTERN REGION A True Copy:______

Call Order: 1 Project(s): 2663003

Contract Time: 11/21/26 COMPLETION DATE

Attest: ______

Contract Description: WHITING - ROBBINSTON ULTRA-THIN BONDED WEARING COURSE Notary Public

				N OLI KA-THIN BONDE				Notary Public	
Line No / Item ID Item Description				(1) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING					
Alt Set / Alt Member		Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 HI	GHWAY ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:			
0010	202.2023	318,000.00	018,000.000	4.00000	1,272,000.00				
	NG PAVEMENT SURF CUT DRUM	FACE - S	Y SY						
0020	403.209	10.00	0 10.000	450.00000	4,500.00				
	ASPHALT 9.5 MM LKS, DRIVES, TALS)		т т						
0030	403.211	500.00	500.000	195.00000	97,500.00				
HOT MIX	ASPHALT (SHIMMIN	G) -	Г Т						
0040	409.15	910.00	910.000	12.00000	10,920.00				
BITUMIN APPLIED	OUS TACK COAT -	(G G						
0050	410.153	101,090.00	01,090.000	1.60000	161,744.00				
	FIED ASPHALT SEALO RIT, APPLIED	COAT S'	Y SY						
0060	424.22	105,900.00	0 5,900.000	6.25000	661,875.00				
	RUBBER CRACK TYPE 2, APPLIED	LI	3 LB						
0070	462.301	318,000.00	918,000.000	8.50000	2,703,000.00				
	R MODIFIED ULTRAT WEARING COURSE		Y SY						
0800	606.1305	4.00	0 4.000	7,500.00000	30,000.00				
	I GR, MID-WAY SPLIC TERMINAL	CE E/	A EA						
0090	606.178	340.00	340.000	32.00000	10,880.00				
GUARDR	AIL BEAM	LI	F LF						

Tabulation of Bids Page 2 of 3

Contract ID: 026630.03 Counties: WASHINGTON Maine Department of Transportation

Letting Date: August 20, 2025 District(s): EASTERN REGION A True Copy:______

Call Order: 1 Project(s): 2663003

Contract Time: 11/21/26 COMPLETION DATE

Attest: ______

Contract Description: WHITING - ROBBINSTON ULTRA-THIN BONDED WEARING COURSE Notary Public

	ast bosonption. W			, serior iriii bonde	ETITA-THIN BONDED WEAKING COOKSE			Notary Fublic		
Line No / Item ID Item Description		(1) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING								
Alt Set	t / Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION:	1 HIGHV	VAY ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:				
0100	606.353	10.000	10.000	95.00000	950.00					
_	TORIZED FLEXIBLE RAIL MARKER	EA	EA							
0110	606.362	150.000	150.000	20.00000	3,000.00					
GUARDF	RAIL ADJUSTED	LF	LF							
0120	627.733	336,000.0036	5,000.000	0.20000	67,200.00					
	E OR YELLOW PAINTED NT MARKING LINE	LF	LF							
0130	627.78	671,000.0 %7 1	,000.000	0.20000	134,200.00					
	RARY 4 INCH PAINTED NT MARKING LINE, WHI LOW	LF TE	LF							
0140	629.05	40.000	40.000	75.00000	3,000.00					
HAND LA	ABOR, STRAIGHT TIME	HR	HR							
0150	631.12	150.000	150.000	185.00000	27,750.00					
	POSE EXCAVATOR ING OPERATOR)	HR	HR							
0160	631.172	300.000	300.000	150.00000	45,000.00					
TRUCK - OPERAT	LARGE (INCLUDING OR)	HR	HR							
0170	639.18	1.000	1.000	35,000.00000	35,000.00					
FIELD O	FFICE TYPE A	EA	EA							
0180	652.33	25.000	25.000	45.00000	1,125.00					
DRUM		EA	EA							

Maine Department of Transportation WASHINGTON Contract ID: 026630.03 Counties: A True Copy:_____ August 20, 2025 **Letting Date:** District(s): **EASTERN REGION** Call Order: Project(s): 2663003 **Contract Time:** 11/21/26 COMPLETION DATE Attest: ____

Contract Description: WHITING - ROBBINSTON ULTRA-THIN BONDED WEARING COURSE

Notary Public

Consider Becomption: William Republication					-		1 Totaly 1 abile		
Line No / Item ID Item Description			(1) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING						
Alt Set	/ Alt Member	Quantity a	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 HIGHWA	Y ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:			
0190	652.34	150.000	150.000	25.00000	3,750.00				
CONE		EA	EA						
0200	652.35	1,300.000 1	,300.000	16.00000	20,800.00				
CONSTR	JCTION SIGNS	SF	SF						
0210	652.36	114.000	114.000	3,100.00000	353,400.00				
	ANCE OF TRAFFIC L DEVICES	CD	CD						
0220	652.38	2,790.000 2	,790.000	65.00000	181,350.00				
FLAGGE	?	HR	HR						
0230	656.75	(1)	(1)	60,000.00000	60,000.00				
	ARY SOIL EROSION AND OLLUTION CONTROL	LS	LS						
0240	659.10	(1)	(1)	1,140,000.00000	1,140,000.00				
MOBILIZA	TION	LS	LS						
Section Totals:					\$7,028,944.00				
Life Cycle Costs:									
Section Total with LCC:					\$7,028,944.00				
Contract Item Totals					\$7,028,944.00				
Contract Time Totals									
	Contract Life Cycle Co	sts Totals			\$0.00				
Contract Grand Totals					\$7,028,944.00				

Maine Department of Transportation

8/20/2025

Page 1 of 1

Vendor Ranking

Call Order: 1 Contract ID: 026630.03 Counties: WASHINGTON

Letting Date: August 20, 2025 11:00 **District(s):** EASTERN REGION

Contract Time: 11/21/26 COMPLETION Min: Max:

DATE

Contract Description: WHITING - ROBBINSTON ULTRA-THIN BONDED WEARING COURSE Project(s): 2663003

Rank		Vendor ID/Name	Total Bid	Percent Of Low Bid
1	003318	EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING	\$7,028,944.00	100.00%